EARAZROREIERT — 2 N—XBISY —F 201854818 (H) 3@EAL4H

mﬁ%ﬁ_ﬁ,u 1000RAF %4t GBRE) USTE] N\>7F ‘ [XM&] # ‘ (seEmml  — |2 (&) 25000 &
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< o KEFHRTR :33. 22— . . 1SR (5H)
N MEASZY o4 PN 2(3_3)5 2-2-2-2 | 34.7]102.5| 3 (5_0;)) et
LT RIAY L= BSTRLTY Y #H B
N o5 | ALHER 2:33.8 7-7-5-3 | 34.6| 99.4 | 6 464 | FIEHE—BR ()
2 5 JI9FFavb> 54.0 (1 3/4) -2) (%) Fav4>
L:ZFAT=IK B:ov RodlIy b IR
> 5 44 | BBl 2:33.9 9-8-7-6 | 34.6 | 98.3 | 1 490 | AFNERL ()
3 1| FyAx70 55.0 (1/2) (-4 |ETFBAF-LT (T2 (#)
LN=VT774 BIILIxX (B) #BA3—-RKL—va>AaE77
5 ¢ o5 | HEHEAH 2:33.9 3-3-3-3 [34.9| 9.2 | 2 476 | FIEHEEZ (i)
N« EES R0 5.0 0 © | . EvTLyETr—u
RV TATI4 K BELT XA A BIR
— \ = #t 4 | F. IFUY 2:34.2 1-1-1-1 | 35.5[87.9 | 5 472 | BRIEZ ()
5 2 =TT — 53.0 (1 3/4) (0) HRABTX
L:xFa1=gr—X B:v-di 2145
o 4 o6 | BBER 2:34.6 11-12-10-8 | 35.0 | 90.9 | 8 476 | AFIERK (5Ei)
6 3 7l/’f‘V—/\'71 54.0 @ 1/2) ) & E
LANRTNGR BT AT LAY — e EE 45035
. s 5 | LHARS 2:34.6 9-10-10-8 | 35.1| 90.8 | 10 | 468 |HEPIEE (Xik)
7 g|FVI>hT—=TU R 52.0 () 2 | ) G1L—v>y
LT —UT4—Z BAUIL N Fo—1L BAT 7 —L
AR : 55— KF?B’ (3E7#)
glglio| 7-r7122% H o7 i (%3;% 5-5-5-6 |35.5| 84.7 | 13 <5+220) ne
L:€r/n704 BYrI5T7-4H- il.#’]‘*ﬂf(%
N N pEL DR :35. -13-10- . . #H/Rﬁri (i)
9/5|6| 7L vRXTI— R AR (22315/20) 13-13-10-8 | 35.4 | 83.5 | 4 igf L
L:Fq=TA2NTh B:A>T—-KIT 1L IR A
= o6 | BEEEA 2:35.4 11-11-10-13| 35.9 | 76.1 | 12 | 486 |EERERI= (k)
10/5|7 |27V T7LtR 53.0 @ 1/2) (o) |FEE
L:xLThANAN BEVEFINL At HER
o WS A £ 5 | RWAEE 2:35.6 3-3-3-5 |36.6| 75.0 | 7 502 | RIFBEA (BR)
1zl EY JIN—=7 54.0 a1/2) -6) | W) T x—
RHI e T BAYOTTILUR ke
5 44 | BEUBEHE 2:36.0 7-8-7-12 | 36.6| 71.2 | 9 488 | SIEHE (ER)
12/8]13| ¥ v v ¥ — 54.0 @ 1/2) (o) |METE—
LY LIAIN—F BTy FuF e
= j 4 6 | EAB—E 2:36.0 5-5-7-8 | 36.7 | 71.3 | 11 494 | EFEH (EH)
1317110/ 7V L7 T =L 53.0 (2 E) (-g) |MEEFR=
LN=Y7514 B:2VRTI—L AL TNV T 7—L
@ 71 L
) 46.6-34.8
NO>24 L |7.3-11.5-12.0-12.2-12.7-13.2-12.9-13.0-12.1-11.8-11.8-11.4-11.6
® I —F—@EBIERL
13=7r= 2-4(9,11) (10,12) (5,13) (1,8) (7,3)6
20—+ — -4(9,11) (10,12)5(1,13)8,7,3,6
30—4— ,4(9,11) (12,5) (10,1,13) (7,6,8,3)
41—+ — ,4(9,5)11(12,1) (10,6,8,3)13,7
[ RN
B OB 4 630M 714K 4-5 1,040M e & 4-4 3,600 &R 1-4-5 2,540
8 B 4 200M 1-4 390M B & 4-5 3,600 3B 4-5-1 20,380
5 240H 1-5 470M B H 4-5 6,730
1 130M9
ABICOVWTRHDTERERRODLDE, THERLE,




